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RIE - MR L

LREETD % 0.7 m 3
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(R L U v 72 SRR 1 ST Uil 5

Poxin =
BAENRE
THL | B NCCTVRERE L%
THRXSy « Lff - fEi5 Bz ¥ & & A i a1l % 7
EHLE IR G BT 17 m
AsHfZERR t=15cm
EHLE IR A A 3 m 2
Asi%  t=15cm ;
Sk 3 m 2
RC-40 t=10cm ;
*E 3 m 2
BARBRIETAY (20) t=bem T T A La— G
T ;
a7 U — MTE 0.5 m3
18-8-40 FEH I FEE AL LA
Py 3 m 2
FeREA 1 m 2
RC-40 t=10cm ;
5% TR AL B 1 m3
ST AL 0.2 m 3
AsiX ;
YATh AT V=YY X 255, 260
YATAAVT) V=Y3y X 255,260 |VAThAVT) V=YaY 1 =
L2SW ik ZE 18 5% & - BEHERY i€ : VLAN, JLEAL, <
$rAb
T A58 s T = 54, 500
Higis T = 54,500 |5t (BX) 1 =
EEE TR = 1, 440, 848
o = 339, 000
Il (it L) = 339, 000
Wi T2y = 1, 779, 848
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THL | B NCCTVRERE L%

THXSy - T - flj HOfr B & & fH # bl 2 g
B E R v 1, 093, 000
e E e DE P = 1,937, 000
FeAfrE 22y v 506, 000
B an g A v 1, 431, 000
TRl = 4, 809, 848
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PR NERE

(R L U 75 72 BERE BT 1

THL | B NCCTVRERE L%
THRXSy « Lff - fEi5 Bz ¥ & & A i a1l % 7
B B (B as BLR) = 7, 415, 000
CCTV&%fif = 7,415, 000
CCTV: & = 7,415,000 |HDfS§GTIIPH A 5 S 1 &
RS (R—VEAED) e BB
LAN-SW (B4 FL2-SW) 1 &
ZATD;
FARIEHD 2 e
1000BASE-XA > % —7 = — A (SFP) g ;
SPD (LANFH) 1 &
VA= b ! B
SIS BENLANEHI ST ;
B L2 2V 1 7,415, 000
TI58UE 2V 1 624, 000
TIHRIET = 1 624, 000
AR 1 o TUAE T = 1 624,000 | AT A 1 H
$216.3Xt5.8 L5.8m ;
T4 T X 1 624, 000
(T35 8 E ) 2V 1 624, 000
B B = 1 848, 602
CCTV&%fi L =M 1 538, 842
CCTVEE ERRE T = 1 162, 150 |HDFE S AIP A A T d B AR R H 1 =
LAN-SW (B4 FL2-SW) ik 1 &
UA Ty 2=y MNMEFFHE 1 1=
AEN VN & ;
Jefm ik 1 e
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PR NERE

THL | B NCCTVRERE L%

THX4y » THE - i H A7 ¥ = & F A il ) EN
AR E TR 1 B
(2 HUABEAHIE)
SOAEERE T = 119, 100 | AER & 1 i
$216.3X5.8tXbm MlEH 7L E2XTUNR
IV RETe
B PR B 1E S i Ut 1 =K
=77 VEGER 1 2V 192, 880 | Hi1 e 4% PNECAR 35 m
SM-8C 4CTF—FRAu v b
BANBNE NELRR 9 m
SM-8C 4CTF—FRAu v b ;
Z A LEHR 16 m
SM-8C 4CTF—FRAu v b ;
A — 7 VB 1 (530
57— (C)LLF ;
N — 7 vk 1 (530
57— (C)LLF ;
S — 7 kB 2 J 1
R IBR 20000 F ;
S — 7 kB 1 1)
iR 20000
7 v — v &I 1 L
200CLL T 49% ;
B A% - BrR T = 64,712 | EMRE R 4 m
C19 ¥ RAE® Hz2m (BN ET ;
RS R 0.7 m
Gl6 7V v 7R» H<2m fTEfmate ;
RS R 0.7 m
G22 7V v FRY H<2m fTEfmate ;
SJRBA] & 5 BRI R 1 m
#17 ;
SJRBA] & 5 BRI R 1 m
#24 ;
SJRBA] & 5 BRI R 0.6 m
#38 ;
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THL | B NCCTVRERE L%
THRXSy « Lff - fEi5 Bz ¥ & & A i a1l % 7
N 9 m
CV3. 5mm2-3C ;
Z AN UER 5 m
CV3. 5mm2-3C ;
arvvx—arhy Vs 1 &
#17 ;
arvvx—arhy Vs 1 &
#24 ;
Ry 7 Aaxy H— 2 &
#38 ;
a7 ) — NRBT 2 &30
¢ 30 ;
YAThAVT) V=YY =M 1 255, 260
YAThAVT) V=Yay £ 1 255,260 |VATAAVT) V=yay 1 =
L2SW ik 2518 5% & - BERERY i€ : VLAN, JLEAL, <
$rAb
T8 s T = 1 54, 500
Lpe S 2V 1 54,500 |k (FER) 1 F2V
EEE TR = 1 848, 602
Il R = 1 190, 000
Il (Rt L) = 1 190, 000
Wi T2y = 1 1, 038, 602
Bl By X 1 623, 000
o i P = 1 1, 862, 000
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(B4 iUt v 3, 523, 602
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THXSy « TfE - FER Bz ¥ & & A i il 7
B A = 1 1, 419, 680
CCTV&% i L =M 1 1, 419, 680
RN Ia N 1 24,598 | PR 31 m
LAN4—7" )L UTP-CatbeEAMA ;
IR T T TR = 1 1,386,722 |ZEHH RSN 1
0DU ;
ZethipsR (26 H LA IE) 1 H
0DU ;
Ze Hh R R 3 H
Zeth iR (28 H LA IE) 1 H
MR AR SRR A B 1 i
$89.1X12.8X4500 ¢ 34.0Xt2.3X1500 &
ot IReRET
MR R SRR B 1 i
¢ 34.0X 1850 X4 HATe ;
B & - B 2 = 1 8,360 |4 NECHRIE 29 m
LAN4—~7 )L  Catbe ;
EHE T EE = 1 1,419, 680
Hom R = 1 350, 000
Il (Rt L) = 1 350, 000
Wl T = 1 1, 769, 680
Bl H = 1, 121, 000
o i P = 93, 000
i s = 93, 000
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— 52 —

ESR S S E IR Wk S




